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V241 = 1.552 , v24.1 = 4.909 & o}, o+-& & 27

1S RL?

E‘O

@ V241 =15.52

@ +/0.241 = 0.4909
® /2410 = 49.09

@ /24100 = 155.2
® /0.0241 = 0.01552

4. /5=2236, /50 = 7071 & o], o}&o] TAZ E
2] &2 ALY

@ V500 = 22.36 @ /5000 = 70.71
® 0.5 =0.7071 @ +/0.05 = 0.2236

® /50000 = 707.1

D 1+2V3 @ 3+V3 ® 4+3
@ 5+3 ® 3+2V3

6. 31229 &4 HEL29
D Vv2-3 @ —v2-2 ® V2-2
@ —V3-1 ® V3-2

7. V09 A% PEE ., a5 RES b B, L
’ Tb+4
of gre Tty
) 3Vo
o Y @ V5 vo
2 2
@ 25 ® 3v5

8. V3=1732<4 u, V34300 o ZAS &5 B4
2}2]742] Fstol et




11.
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® V119 - 3v7 - 2V17+ 8
@ VI19+3V7T—2V17+38
® V119+3V7+2V17+38
@ V119 —4v/7 - 2v/17+8
® V119 —4V7+2V17+38

VIT+19] 3% B8 q, &5 282 T ),

a+3b ] = Fshd?

O —7+V17 @ -7+ 2V17
® —7+3V17 @ —744V17
® —7+5V17

13. V6=2449 4 @, 0.54 o] 24k Fotoie

sk

14. A% n o Histe] /n o] 25 FEF f(n) oIt
o, f(72) - f(32) ©f #t= Fshei=t

15. /327 =1.808 , v/32.7 = 5.718 & ], t}2 F 27

ore 7.8

@O /327 =18.08

@ +/0.0327 = 0.01808
® V0.327=0.5718
@ /3270 = 57.18

® /32700 = 180.8

16. V6 o A% HEE o & T 1, 2(a - V) o B2
Fotofet,

o 37 T = =
17. o= AECES o83l AL V6.51 + v6.53 —
(e} =

6.43 & oo},
+ 0 1 2 3 4
6.3 2,510 2,512 | 2,514 | 2,516 @ 2,518
6.4 2,530 2,532 | 2,534 | 2,536  2.538
6.5 2.550 | 2.551 | 2,553 | 2.555 | 2.557
6.6 2,569 | 2,571 | 2,573 | 2,575  5.577




19. V5O 24 HES 2w & 1] o — (24 v5)a+ 45

o gk Fafolz

20. o5 F WA 4 7] A 522 v Eo] thE S)

=9
O V7.2 @ /720
® /7200000 @ +/0.0072
® +0.072

21. vz o A4 $Eo] 5 A u), &A% o ] go] ofyl

A7

@ 25 @ 27 @ 31 @ 34 ® 36

292. /195 — 3*/57_5 o] ZAEE2? (T, V5 =2.236 )

\/5 BA
@ —11.944 @ —5.056 ® 5.944
@ 10.416 ® 13.416

o], a? — (2+V5)a+4v5

1
24./3=1732 4, V27 + — 9] A A4

24 6
23.v2=1414,v/3=1732 4 o, — + — 9] At
= Un VU -
e A3 ot AR =] 7EA] FE5HH?
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@ 0.524 @ 0.976 @ 1.247
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=
)
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25. V2 Latd, VA0 = 4472 2 1, /L o) e

FotH?
@ 0.4472 @ 0.1414 @ 0.04472
@ 0.01414 ® 0.3058
26. z ol A4 BES f(x) 22l & o, oF3 49] 3H&

Fatolat,
1 1

1
e Tre T T ran T




29.

27. o329 1= AlEFTRS dFo|tt o] BE o]§ot
1 9
— (V3 - =) 9 322
V2 ( 3)
> 0 1 ’ %
1 1.000 1,005 1.010
2 1.414 1.418 1,421
3 1.732 1.735 1,738
4 2 2.002 | 2.005
5 2.236 2.238 2.241
6 2.449 2.452 ‘ 2.454
7 2.646 2.648 . 2.650
8 2.828 2.830 2.832
@ 1414 @ —1.732 @ 1.732
@ —2.449 ® 2.449
a=v3gu - 9 2% HEEY ([t
[a] + a
5 97 g e F4)
1
D V3-1 @ V3+1 ©)
14+/3
V3 5 V3
14+/3 1-3
o= AFEREE o8t 2004 9] &4 5t
H?
= 0 1 2 & 4
3.0 1,732 | 1,735 1,738 1,741 1.744
4.0 2.000 | 2,002 | 2.005 | 2.007 | 2.010
5.0 2.230 | 2,238 | 2.241 2.243 | 2.245
O 44.72 @ 34.64 ® 34.70
@ 34.76 ® 44.76

30. t}2-2 FolA A FEHE Bl T4 ZAZS +
St Ao}, &2 g2 A9
> 0 1 2 & 4
2._0 1,414 1.418 1,421 1,425 1_4.28
2.1 1.449 1.453 1.456 1.459 1.463
2.2 1.483 1.487 1.490 1.493 1.497
2.3 1.517 1.520 | 1,523 1.526 1.530
2.4 1.549 1.552 | 1,556 1.559 1.562
20 4.472 | 4,483 | 4.494 | 4,506 | 4,517
21 4. 583 | 4.593 | 4.604 | 4.615 4.626
22 4690 | 4.701 | 4.712 4.722 4.733
23 4.796 | 4.806 | 4. 817 4. 827 4,837
24 4.899 | 4,909 | 4.919 | 4,930 | 4,940
® V0.2 =0.4472
@ /210 = 14.49
® V220 = 14.83
@ 0.23 =47.96
® 1/0.0024 = 0.04899
31. A= n o diste] n 9] 24 BES f(n)olzt &
o, £(80) + f(45) :af+b ojt}. o] w, 2q + b ©
& ForH?
D —28 @ -7 @ 0
@ 7 ® 21
32. V454=2131 4 ©f, \/zr — 25 = —3.69 = TZ35t=

r €] & Fotole




33. V2 o 2AYE =, V5 O] 2HEE y F &

8 6
\/372+\/045+%+ﬁ_\/%9’]%§}%}\—%1'7y
1

£ WA R ar + by oIk ol a x - o] %2
a7

D1 ® -1 ®2 @ -2 ®3

34. V143 o 2432 a, Vb =1.105 ¥ W, a,b 2] FH-2?

0 1 2 3 :

1.0 | 1,000 | 1,005 | 1,010 1,015

1.1 | 1,049 1,054 1,058 1,063

1.2 | 1.095 1,100 1,105 1.109

1.3 | 1,140 1,145 1,149 1,153

1.4 | 1,183 1,187 1.192 1.196

® a=1.000, b=1.13
@ a=1.005 b=1.15
® a=1.049, b=1.42
@ a=1.196, b=1.22

® a=1.192, b=1.23
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